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NC11 P3-6
2025-05-29 (Day 61)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 ] ] ] I I
3500 —>— EcFzExp
3000 4 —>¢— ECdef
—>— water_ec
2500

2000 32
1500

)!M

1000

Warning: col [ EcFgro’, 'EcPltng'] is migsing

2 % 2 0 X 2 X X 2

500 i

0 25 50 75 100 125 150 175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH

ir—o’', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BfiE) | BB (FD) | EdE (ERA/K) [ XK R

07:00 273 150.0 5| TiHEBe07:00 REFEF (KEAERSE)
07:40 273 150.0 5| FHAe07:40 KENFERF (RE1EREE)
08:15 273 150. 0 | FiHfe0s: 15 REEEF (KEERHR)
08:50 273 150.0 5| TiHe08:50 REFEF (KFAERH)
09:45 273 150.0 5| THAe09:45 KENFERF (RFE1EREE)
10:30 273 150. 0 5| FiHEe10:30 REEEF (KEERHR)
11:10 273 150.0 5| FiHe11:10 RHEF (KEAERSR)
11:50 273 150.0 = FiHBe11:50 KREFEF (GRFAEREE)
12:25 273 150.0 5| Tffe12:25 KEFERF (RE1EREE)
13:00 273 150.0 5| TiHe13:00 RHEF (KEERSR)
13:35 273 150.0 E|  FiHBe13:35 KREFEF (RFAEREE)
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14:55 273 150.0 5| THRe14:55 KEFERF (RF1EREEE)
15:40 273 150.0 5| TiHe15:40 REESF (KEAERSE)
16:35 273 150.0 5| THAe16:35 KENFERF (RFE1EREE)
21t] 4095.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.6

[E;&REC 6620.0 K5, EiNF{KECAE&M%ER
#H[EKECE (2323.0 vs 6620.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=61 (2025-05-29)
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P3-6

BrE) | GEBAK () | ERE (ERH/K) (XS R

06:35 278 150.0 5 BRi&@06:35 Bz (RF{EREIEE
07:10 278 150.0 5 i1&@07:10 B3h (KRBERSE)
07:45 278 150.0 5 B2i%@07:45 Bzh (kBEREE)
08:45 278 150. 0 5 RRi%@08:45 Bz (KL
09:35 278 150.0 5 1%@09:35 B3l (KAERREE)
10:20 278 150.0 5 B2i8@10:20 Bz (FREERE)
11:00 278 150.0 & Ri%e11:00 Bz (GRAERESE)
11:40 278 150.0 5 Bi%e11:40 B3 CGREEESE)
12:15 278 150.0 & Bige12:15 Bz (REERSE)
12:50 278 150.0 & RRi%e12:50 Bz (RAERESE)
13:20 278 150.0 5 BRi%@13:20 Bzh (REERESE)
13:50 278 150.0 5 Bi%@13:50 B3h (kBEREE)
14:20 278 150.0 = Ri%e14:20 Bzh (GRAERESE)
14:55 278 150.0 5 Bi&e14:55 B3h (RAHERE)
15:35 278 150.0 5 Bi%@15:35 B3h (kAEREE)
16:20 278 150.0 B #iTHhe16:20 Bz CGRAEESE)
17:20 278 150.0 5 BRi%e17:20 Bz (RAERESE)
Bt 4726.0 (17)%) 2550. 0 32 3FKEC: 2080.0, PH: 5.6

large discrepency for begining water status (362:162.0), set to 362 ml.
[ /&EC 6022.0 K7, EiUAKECHAIMIAER
13 [E]%ECZ (2400. 0 vs 6022.0) 5
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P3-6_0, Day=60 (2025-05-28)
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2 .

975 980 985




46 -

44 -

42

660 860
m=580,n FV0=0

1000

49.0

48. 8 -

48. 6

48. 4

48. 2

—— MW

5é5 560
m=720,n FV0=0

49.75 A

49. 50 ~

49. 25 ~

49. 00 ~

48. 75

48. 50 ~

—o— MW

it
i

7é5 750
m=860,n FV0=0

50. 2 -

50. 0

49. 8

49.6 -

49.4 -

49. 2 -

- MW

i
i
i

860 865 870

m=465, FV0=0

47 A

46

45 -

44 4

43 -

42 -

41 ~

M_w

4%0 4%5
m=610,n FV0=0

T
465

49. 2 -

49.0 -

48. 8 A

48.6

48. 4 -

49.

49.

49.

49.

48.

48.

48.

—o— MW

6{5 6é0
m=760,n FV0=0

75 A

50 -

25 A

00 -

75 -

50

25 A

—o— MW

765 750
m=895,n FV0=0

760

50. 4 4

50. 2 -

50.0 A

49. 8 A

49.6 -

49. 4 4

—— MW

895 900 905

m=500, FVO0=0
—— MW
48.0 -
47.5 -
47.0 -
T T T
500 505 510
m=650,m FV0=0
9.4 o wu
49.2
49.0 -
48.8 -
48.6 -
48.4 -
48.2 -
T T T
650 655 660
m=795,m FV0=0
—o— MW
49.75 -
49.50 -
49. 25 -
49. 00 -
48.75 -
795 800 805
m=935,m FV0=0
50. 6 - o MW
50. 4 -
50. 2 -
50. 0 -
49.8 -
49.6 -

940 945

m=540, FV0=0

48.

48.

48.

48.

48.

M_w

540

5&5 560
m=685,n FV0=0

49.6

49.

49.

49.

48.

48.

48.

—— MW

=

GéO 6é5
m=830,n FV0=0

50. 00

49.75 A

49. 50 A

49. 25 ~

49. 00 A

48. 75 A

830

Bé5 8&0
m=975,n FV0=0

50. 6

50. 4 A

50. 2 A

50. 0 -

49. 8 -

- MW

975

980 985
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P3-6

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

07:00 278 150.0 |[Z=| 1Ri%@07:00 Bzh (KAHERESE)
07:40 278 150.0 & =| 1Ri%e07:40 Bz (kAEREEE)
08:50 278 150. 0 E|  {Rig@08:50 Bah (RE{EREE)
09:40 278 150.0 (& =| 1BRiB@09:40 Bzh (KREERESE)
10:25 278 150.0 [Z=| 1BRig@10:25 Bzh (REERESE)
11:10 278 150.0 & =| 1Rige11:10 Bzh (GRAHEREE)
11:50 278 150.0 & =| 1Ri%e11:50 Bzh (RAHERESE)
12:25 278 150.0 | =| Ri%e12:25 Bz (kAEREE)
13:00 278 150.0 FA| 1B2i%@13:00 B3h (RABERESE)
13:35 278 150.0 FA| {Ri%@13:35 Bz (GkAEREE)
14:05 278 150.0 FA| {Ri%@14:05 Bz (GRAERE)
14:40 278 150.0 A 1Rige14:40 Bzh (GRAEREE)
15:15 278 150.0 (& =| 1Bige15:15 Bzh (REERESE)
15:50 278 150.0 | =| 1Ri%@15:50 Bz (kAEREE)
16:40 278 150.0 & =| 1Ri%e16:40 Bz (KPBEREEE)
=3t] 4170.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.8

#H[EKRECE (2393.0 vs 4765.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=59 (2025-05-27)

150 A

100 A

50

200 A

150 -

100 -

50 A

300

200

100 -

1.0 A

0.8

0.6

0.4+

0.2~

0.0

------------------------------------------------------------------------------------- L 3000
VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 2685
2300 340
1790 878 2000
1500 463
- 1000
180 Warning: lcol [FVI',| "FVO’'] missing 20
-0
#30
- 28
-
L0 =
- 24
22
4
Warning: lcol ["WC1',  "WC2'] missing
TargetEC=2600. 0,  TargetSetEC=2080. 0 t
Warning: lcol ['ECB’,| 'ECC’'] missing
TargetPH=6. 5, TargetSetPH=5. 8 N
Warning: lcol ['PHB’,| 'PHC’'] missing
1 4000
Bylnit:@D61 01:50: ET=2034 Fg=2700.0 Ro=549.0 t
- 3000
- 2000
- 1000
400 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 4000
EXNEZAN G i g g fg i g g i 5 5 5 5 i g 5 5 5 5 5 i 5
300 - i - 3000
ByEt @D59 19:08: ET=2211 EFg=2295. 0 Ro=nan |
- 2000
- 1000
400 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 4000
25|26 |25 2525|2352 25| B (2525|225 A G EREARAERA EEAEERAEARL i 5
1 - 3000
ByWoFV:@D61 01:50: ET=1878 Fg=2250.0 Ro=458.0
| - 2000
1
1
1 - 1000
1
0
—_— 4

| _obs
PPFD_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26.

25.

25.

25.

25.

26.

26.

26.

25.

25.

26.

26.

26.

25.

25.

25.

m=465, FV0=0 m=500, FV0=0 m=535, FV0=0

— ME 26.0 1 _g ME 26. 2 - o NE
25. 8 -
24.5 1 26.1 1
25. 6 -
24.0 - 25. 4 26.07
25.2 25.9
23.5 - 25 0 4
25. 8 -
T T T T T T T T T T T T
600 800 1000 465 470 475 500 505 510 535 540 545
m=585,m FV0=0 m=625,m FV0=0 m=670,m FV0=0 m=705,m FV0=0
o— ME 26. 2 - — NE — NE 26. 4 - — IE
0 26. 2 -
26.0 26. 2
26.0 -
8 -
25. 8 - 25.8 - 26. 0 A
6 -
25.6 - 25.6 1 25.8 -
49 25. 4
25. 4 1 25. 6 -
2 1 25.2
T T T T T T T T T T T T
585 590 595 625 630 635 670 675 680 705 710 715
m=740,m FV0=0 m=775,m FVO=0 m=805,m FV0=0 m=840,m FV0=0
4 o M_E 26. 4 ® M_E —— M_E —— M_E
26. 4 - 26. 4 1
2 26. 2
26. 2 -
0 26.0 - 26. 2 1
26.0 -
8 - 25. 8 -
26.0 -
6 - 25. 6 - 25. 8
25. 8 -
740 745 750 775 780 785 805 810 815 840 845 850
m=885,m FV0=0 m=915,m FV0=0 m=950,m FV0=0 m=990,m FV0=0
A —o— ME 26.7 1 —o— ME 26.8 1 —o— ME
26. 6 - 26. 6 - 26. 7 -
2 -
26.5 - 26. 6 -
04 26. 4
26. 4 - 26.5 -
8 - ] i
262 26. 3 26. 4
6 1 26. 2 - 26. 3 -
4 1 = ME 5604 26. 1 1 26. 2 -
885 890 895 915 920 925 950 955 960 990 995 1000
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47.

47.

49.

49.

48.
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49.

49.
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48.

48.

48.

42
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m=585,n FV0=0

T
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T
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25 A

00 ~

75

50 A

25 1,

5é0 565
m=740,n FV0=0

25 - —o—

00 ~
75

50 A

25 -

00 -

M_W

7&5 760
m=885,n FV0=0

75

50 -

25 A

00 -

75 -

50 A

25 -

890 895

m=465, FV0=0

46. 0

45.5 -

45.0 A

44.5 -

44.0

M_w

4%0 4%5
m=625,n FV0=0

48.6

48. 4 -

48. 2 A

48.0 A

47.8 -

47.6 A

650 Gé5
m=775,n FV0=0

49. 25 ~

49. 00 ~

48.75 A

48. 50 -

48. 25 A

48. 00

—o— MW

775

7é0 7é5
m=915,n FV0=0

50.0 A

49. 8 -

49.6

49. 4

49. 2 -

49.0 -

i
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—— MW
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920 925
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48.
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49.
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48.
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50.

49.

49.

49.

49.

m=500, FV0=0

.91

.0+

.51

.0

M_W

565 5%0
m=670,n FV0=0

75 1

50 -

25 A

00 ~

75 -

50 A

25 -

T T
670 675 680

m=805,m FV0=0

1T —e— mw

i

8%0 8{5
m=950,n FV0=0
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2 4

0 -

‘(:;//;{:“/’..\'/’.\...0
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48.
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47.

49.

49.

49.

49.
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m=535, FV0=0

M_w

5&0 5&5
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8&5 860
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P3-6

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

06:45 278 150. 0 E BRi&e06:45 Bah (RAEREE)
07:30 278 150.0 5| {Ri%@07:30 B3 (FRAERSE)
08:45 278 150.0 = {RRiB008:45 B (FRFAEEE)
09:45 278 150.0 5| {Ri%@09:45 B3 (KRAERSE)
10:30 278 150.0 (& =| 1BiB@10:30 Bzh (REEREE)
11:15 278 150.0 =l {Rige11:15 B3 (GRAERSE)
11:55 278 150.0 S| {Rige11:55 B (REAERSE)
12:35 278 150. 0 E| {Rige12:35 Bzh (RE{ERSE)
13:15 278 150.0 E BRige13:15 Bz CGRAERSE)
13:55 278 150.0 | {Ri%e13:55 B (REAERESE)
14:55 278 150.0 E BRige14:55 Bz (GRAERERE)
16:10 278 150.0 F BRige16:10 Bz CGRAERE)
24t 3336.0 (12)%) 1800. 0 3ZHKEC: 2080.0, PH: 5.9

#HEKRECE (2370.0 vs 3648.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=58 (2025-05-26)

o fF———————fF————F—————f 3000

s V&P%RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 A 723 1790 - 2000

1500 56833

50 A - 1000

FRV (ml d-1)

20 Warning: lcol ["FVI',|"FVO'] missing 180

200 3

150 -

100 -

1
o
1

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
1
Bylnit:@D61 01:50: ET=1957 Fg=2550.0 Ro=529.0

300 - 3000

200 - 2000

- 1000

cumET (ml/plant)

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
% | % | % | % | @ | | | w % | w | m | ® | m | w || m | m | ®mw e ® ]

3000

ByEt @D58 19:11: ET=1748 Fg=1560.0 Ro=nan

- 2000

- 1000

cumET (ml/plant)

0 [ 1 2 | 3 [ a5 6] 7891t [12]@[14]15[16 ][ 17 [ 18] 19207212723
BE | B | 85 | B5 | BF |5 | B | BR | BF | M8 || B5 | BF |8 | B | BR | BF | M | |AM| M |25 |%=| BB

]
ByWon:@D61 01:50: ET=1483 Fg=1800.0 Ro=326.0

300 4 3000

200 - 2000

- 1000

1
1
1
1
100 ~ 1
1
1

RS = &= S— — I — 0

0.8

0.6

0.4+

0.2~

1500 4 _— A
[ ] | _obs
—@— PPFD obs

RH
RH_obs
RHo _obs

cumET (ml/plant)
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25.

25.

T T T T T
500 600 700 800 900

m=620,m FV0=0
47 —o— ME
2 -
0 -
8 -
6 .
4 -
620 625 630
m=800,m FV0=0
4 -
2 -
0 .
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6 -
4 -
. —e— ME
800 805 810
m=470,m FV0=0
484 —@— MW
47
46
45
44
43
470 475 480

26.

25.

25.

24.

26.

26.

26.

25.

25.

25.

26.
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26.

26.

25.

25.

49.

48.

48.

48.

48.

48.

m=470, FV0=0

M_E

4%5 4é0
m=665,n FV0=0

—o— ME

i
i

6%0 6;5
m=835,n FV0=0

—o— ME

8&0 8&5
m=510,n FV0=0

835

1T —e— mw

il
i
i

510 515 520

m=510, FV0=0

26.

26.

26.

26.

26.

26.

25.

—o— ME

5%5 5é0
m=710,m FV0=0

26.

26.

26.

25.

25.

25.

- M_E

7%5 7&0
m=885,n FV0=0

26.

26.

26.

26.

26.

—o— ME

i

850 865
m=575,n FV0=0

49. 00 ~

48. 75 A

48. 50 ~

48. 25 ~

48. 00 ~

47.75 A

- MW

575 580 585

26.

26.

25.

25.

25.

26.

26.

26.

25.

25.

49.

49.

48.

48.

48.

48.

m=573, FV0=0

—o— M_E

5é0 5é5
m=750,n FV0=0

—o— M_E

50 -

48 -

46

44 -

600 700 800 900

m=620,m FV0=0

500

-o— MW

620 625 630




49,

49,

48.

48.

48.

48.

49,

49.

49.

49.

48.

48.

48.

m=665, FV0=0

25 A

00 A

75 1

50 A

25 A

00 ~

—o—

MW

T
665

6;0 6%5
m=835,n FV0=0

75 A

50 A

25 -

00 ~

75 -

50 A

25 A

—o—

M_W

T
835

T
840 845

49.

48.

48.

49.

49.

49.

49.

49.

48.

m=710, FV0=0

—— MW

T
710

7%5 7é0
m=885,n FV0=0

—o— MW

T
885

T
890 895

49,

49.

49.

48.

48.

48.

48.

m=750, FV0=0

50 A

25 A

00 -

75 1

50 -

25 A

00 ~

—0—

M_W

750

755 760

m=800, FV0=0

49. 00 -

48.75 A

48. 50

48. 25 A

48. 00 -

47.75 A
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800

T
805 810
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P3-6

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

06:55 278 150.0 B 1Ri%e06:55 B (KFAERER)
07:35 278 150.0 E 1BRi&e07:35 Bzl (GRAEREE)
08:15 278 150. 0 E  BRi%e08:15 Bzl (RAERRE)
09:05 278 150.0 F[ BRi1%e09:05 BE1 (RAERE)
09:55 278 150.0 =] {Ri%@09:55 B (REARESE)
10:40 278 150. 0 E BRi%e10:40 Bz CGRAERESE)
11:20 278 150.0 5 Ri%e11:20 B (RAMERED)
12:00 278 150. 0 El BRi&e12:00 Bz CGRAEESE)
12:35 278 150. 0 E BRige12:35 Bz (GRAERESE)
13:10 278 150.0 S| {Ri%e13:10 Bz (RAERSE)
13:45 278 150.0 5| 1Ri%e13:45 B (REERER)
14:20 278 150. 0 E BRige14:20 Bz CGRAERESE)
14:55 278 150. 0 El 1BRi&e14:55 Bz GRAEREE)
15:40 278 150.0 =l RRiB015:40 Bz (RFAEESE)
16:30 278 150. 0 E BRi%e16:30 Bzl (GRAEREE)
21| 4170.0 (15)%) 2250. 0 3 IWHKEC: 2080.0, PH: 5.9

large discrepency for begining water status (340:153.0), set to 340 ml.
#[ERECE (2323.0 vs 3280.0) RS



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

150 A

100 A

50

200 A

150 -

100 -

1
o
1

1.0

0.0

400

200 -

200 -

400

200 -

ET (ml/hr/plant)

1.0

0.8

0.6

0.4+

0.2~

0.0

1500 A

1000 ~

500 A

P3-6_0, Day=57 (2025-05-25)

991

Warning: lcol [FVI',| "FVO’'] missing

VI, V8,&RV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
1900

3000

2200 [p184
294 2000

- 1000

FRV (ml d-1)

0

Warning: lcol ["WC1',  "WC2'] missing

N
HEENNRNENNEE N

— ME $30

_________________________ - 28

- 26 El

- 24

22

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['PHB’,| 'PHC’'] missing

TargetPH=6. 5, TargetSetPH=5.9

]
Bylnit; @61 01:50: ET=2043 Fg=2700.0 Ro=513.0

- 4000
7

- 3000

- 2000

- 1000

cumET (ml/plant)

8 1 19 1 20 [ 21 | 22 | 23 [ 2000
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B B 5] B B B B B B B B B B B B B B B B B B D
i - 3000 S
ByEt @D57 16:38: ET=2315 Fg=2328. 0 Ro=nan : -g
~
- 2000 E
i
- 1000 &
b o -
e 000
0 2 | 3| 4567 10 [ 11 | 12 [ 13 | 14 | 15 [ 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23
HHE HEE HE HHE HEE HEE HE E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES
B B 5] B B B B B B B B B B B B B B B B B B D
i - 3000 S
ByWon:@D61 01:50: ET=1729 Fg=2250.0 Ro=464.0 -g
& ~
: £—2—2 |0 E
! -
i - 1000 £
1 )
p— I *——0— ::I\\““‘\\\\\\\\s
N R — —— —— =——r 0
1 [ 2] 3[4 ]5]6]7 10 [ 11 | 12 [ 13 [ 14 [ 15 [ 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23
HHE HEE HE HHE HEE HEE HE E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES
B B B ] B B 5] B 5] B B B 5] B B B 5] B B B 5]

|
[ ] | _obs
—@— PPFD obs




m=435, FV0=0 m=500, FV0=0 m=560, FV0=0

—o— ME 26.3 1 —e— ME —8— ME
26. 0 -
26. 2
25. 5 -
26. 1 25. 8 -
25.9 1 25. 4
24.5 1 25 g
25. 2 -
25.7
T T T T T T T T T T T T
600 800 1000 455 460 465 500 505 510 560 565 570
m=605,m FV0=0 m=645,m FV0=0 m=685,m FV0=0 m=720,m FV0=0
26. 2 - — N — NE — NE 26. 40 - — NE
26. 2 - 26. 2 -
26.0 - 26. 35 -
26.0 - 26.0 - 26. 30
25. 8 -
25.8 25.8 26.25 7
25. 6 - ' '
26. 20
] 25. 6 - 25. 6 -
25.4 26. 15 -
25.2 25. 4 25. 4 26. 10 -
T T T T T T T T T T T T T T
605 610 615 645 650 655 685 690 695 726 728 730 732 734
m=760,m FV0=0 m=795,m FV0=0 m=840,m FV0=0 m=875,m FV0=0
—e— ME 26.4 1 —o— ME 26.4 1 —e— ME —o— ME
26. 2 1 26. 4 -
26. 2 -
26. 2 -
26.0 -
26.0 - 26.2 4
25.8 26.01
’ 25.8 1 26. 0
25. 8 -
25. 6 - 25. 6 -
25. 8 -
25. 4 1 25. 6 - 25. 4 1
760 765 770 795 800 805 840 845 850 875 880 885
m=915,m FV0=0 m=955,m FV0=0 m=1015m FVO0=0 m
26.6 - 50 -
—o— ME —o— ME —o— ME —— MW
26. 4 - 26. 6 -
26. 4 -
26, - 26. 4 -
26. 2 - 26. 2 -
26.0 -
26.0 -
25. 8 26.0
25. 8 -
915 920 925 955 960 965 1015 1020 1025 600 800 1000



47.

47.

46.

46.

48.

48.

48.

48.

48.

47.

47.

49.

49.

48.

48.

48.

48.

48.

49.

49.

49.
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